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Questions 1 and 2 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (4 marks)

1. Mr Lee has $6000 in his bank account. The bank gives 0.3% interest at
the end of each year. He does not withdraw any of his savings. What is the

total amount of money he will have in the bank at the end of one year?
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2. A group of 4 girls and 3 boys took a quiz. The average score of the girls

was 28. The average score of the boys was 27. Find the total score of all

the children. Trfu( Cone
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For questions 3 to 9, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in the brackets () at
the end of each question or part-question. (26 marks)

3. The graph below shows the number of tickets sold for a basketball match from

Monday to Friday.
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(a) What was the total number of tickets sold from Monday to Wednesday?
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Ans: (a)

(b) The usual price of a ticket was $70. On Friday, tickets were sold at a 5%
discount. How much money was collected from the sale of tickets on

Friday?
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4.

non-fiction books. There are 5940 fiction and non-fiction books altogether. How
many fiction books are there in the library?
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5. ABCD is a parallelogram. CFE is an isosceles triangle with CF = EF. AFC is a
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Each statement below is either true, false or not possible to tell from the

information given. For each statement, put a tick (v') in the correct

column.
Statement True False | Not possible
to tell
AFED is a trapezium. 1/
£LACD = £ADC. f/

(1]



6.

At a furniture shop, office chairs are sold at the price shown.

Usual Price
$106 seep-

During a sale in October, the shop offered a 25% discount on the office chair.

(@) What was the discount given for each office chair?

Ans : (a) %9\650 [1]

(b) Karen had $550. What was the greatest number of chairs she could buy

during the sale in October?
(06 - 2650 = 7950
Tsp ~ 79-50 = f R 73
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7. Xavier spent = of his money on a laptop and a refrigerator. The refrigerator
7 A

3
1
cost 2 times as much as the Eap[top. He spent 3 of his remaining money on a

1 Au St
vacuum cleaner[‘_r he laptop cost $1320 less than the vacuum éfeaner.j

(a) What fraction of Xavier's money was spent on the laptop?
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(b) How much money did he have at first?
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Ans : (b) $ 012% [3]
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8.  Figure 1 shows a rectangular tile.

Figure 2 is formed using 5 such tiles. The perimeter of Figure 2 is 360 cm.
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Find the perimeter of Figure 1.
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Find the area of the rectangular tile. (g ..
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The length of the rectangular tile was 3 times as long as its breadth.
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9. Q)evi had 180 butter buns and twe-times-asmany kaya buns in the morning.f/in | Do not
the afternoon, she baked some butter buns and sold some kaya buns.[The iv:}nttr?is
number of kaya buns sold was 5 times of the number of butter buns bakedj space

@he had the same number of butter buns and kaya buns in the endj A —
Can b(f‘ﬂwt/ waz.’ Gfrﬂ-ﬂvf&gw&
(a) How many butter buns did Devi bake in the afternoon? j
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Ans : (a) [1]
(b) How many buns did Devi have altogether in the end?
(30 + 30 = 20
20 XL = 419
Ans : (b) 4o [2]
(c) The remaining buns were sold at $2.20 each and[1 bun was given free
for every 3 buns boughtl Mr Poh wanted to get 13 buns. How much
money did he need to pay in total? BR
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THE END



